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17 ZREF 42 50 92/16.0 76.0 52 FEEFIETR 50 47 97 16.0 81.0 87 IUFK=2EIR 54| 53 107 20.0 87.0
18 fE AR 46 49 95/19.0| 76.0 53 Vh ATt 49 48 97 16.0 81.0 88 3 51| 52 103 15.0 88.0
19 A HFn 46 50 9620.0| 76.0 54 WA 46 52 98 17.0 81.0 89 LA E 50 53 103 15.0 88.0
20 BJRfEsE 46 46 92/15.0 77.0 55 i HAE 48 52 100 19.0 81.0 90 +FIEW 53 53 106 18.0 88.0
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22 HHE= 45 49 94 17.0| 77.0 57 =JRFHE A 50 51 101 19.0 82.0 92 PEFS%— 49 55 104 15.0| 89.0
23 EEAIBL 49 43 9214.0| 78.0 58 Wb B fE 50 51 101 19.0 82.0 93 fEH{E ] 54 52 106 17.0 89.0
24 InA—5 48 44 92/14.0 78.0 59| 42 H B2 51 51 102 20.0 82.0 94 B R 49| 61 110 18.0 92.0
25 EH—% 42 50 92/14.0 78.0 60| tbag AR+ 51 51 102 20.0 82.0 95 EFIE T 54| 57 111 18.0 93.0
26 FEHHE 45 48 9315.0| 78.0 61| B Hh B g 47 51 98 15.0 83.0 96 k- HIHER 54| 59 113 20.0| 93.0
27 0] HH e 49 44 93 15.0| 78.0 62| RALIEHE 46 52 98 15.0 83.0 97 FEARIE 51| 59 110 16.0 94.0
28 )l = 46 47 93/15.0| 78.0 63| /INE [T fiik 48 50 98 15.0 83.0 98 [ AfEZ 56| 54 110 15.0 95.0
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32 REFIER 49 44 93 14.0] 79.0 67 TH#E 48 55 103 20.0| 83.0
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35 fRHmZ 51 48 99 20.0| 79.0 70 BRI BY 46 52 98 14.0 84.0
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